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A ¢ (1) otdL o masdlel diot ).
(2)  omell suysll »is wads oL suld .

1 4aa [, en [l was sudl 9. A 20t lsdlqr 2udR 20
qad (.-l dl. 31-3-2016+1 A% YL Adl ad-l [Bped-dl a8 9y
sl vl R Susdl iRl san-212 yaold was du s ¢

(1) di. 1-4-2012-0 Ay i Rl oudladl 1A yoser edl

SEA 934 (3. 1000 s Al AR) ............ 3. 15,00,000
10%+{ As= A (3. 1000 25 AL AR) ... 3. 3,00,000
AP UM oo, 3. 7,50,000
Asl-wsall v (L 8 L, 3. 1,50,000

(2) dl. 1-4-2012-1 A% 4ad A v R0 12,000 SERA AR
€35 3. 200+l MUd 21 1,200 UsA A d<ll rws Bud
wilel.

(3) dl. 1-4-2013+1L A vl (1.2 Al iHd 3o ydsel s
iz O53d 92€ls o Ol5a2 9 elAd AR dIF qNA gdl.

(4) dl. 1-4-2014~1 A dae .2 v R adiiL 2,100 SERE
R €35 3. 2500 oud uwiled sdl.

(5) dl. 1-4-2015-1 A% 6,300 SEAZ A2 €35 3. 300+ *Ud A
Sall.
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(6) i Rl sl AN RRz=+l Rowdl {2 3o edl :

qyf 451 (3.) $Eadl Rlas<s (%)
2012-13 3,00,000 15%
2013-14 3,72,000 12%
2014-15 6,00,000 20%
2015-16 7,50,000 30%
wYql
1 0 galu R (was) 22 3a- QL (e 3edls Rodl 20
AL . d GuYL oNeL su-ll-l st 19 was Su-lat Wil dl. 31-
12-2016<1L ad-iL [Ba10]l 418 9 a1l oLl salad u=s d 2idi-{l
dRLdl Al dUR A ¢
(1) awas sul-l 938 3. 1000 s A 1,00,000 9=
(2) olel su-l-ll 934 3. 10+ 2is il 1,00,000 A YU HRAAA.
(3) oiq su-l-i Reauell anl 3A=: A Hao @
(4) ¥a=2 a¥ :
2012 2013 2014 2015 2016
(5) olel sudl-d <8\ (3.) :
4,00,000 4,00,000 4,20,000 4,50,000 4,50,000
(6) wad ad-l w3yl wRel sd A dvy
20,000 60,000 80,000 70,000 60,000
(7) olel su-lal sda QR R
10% 10% 10% 10% olLsl 6.
2 ¥s AU ARy ddR HdHl uRad ddl usal 2wl 20
vk wd 9. Al lEdl qd - 20160 A Aaqami sudl
8. $0ieddl Bud adl vddx Bud u sl <l yoo auy € ¢
uBAL-A ;o s0edl Bud u 25% sl
WBAL-B ¢ uidx BHd u 25% sl
uBAL-C ¢ s0edl Bud w2 20% -isl
[aoa wlka-A | uwBa-B wBa-C | darua
3Bl 8Ls 1,10,000 88,000 66,000 | 1,50,000
qQuAdE MM 99,000 | 1,10,000 | 2,10,000 -
weal Wil 72,000 78,000 | 2,80,000 -
s1RuLeL w3l 80,000 | 1,80,000 | 1,84,000 -
2R RS 31,000 80,000 | 2,00,000 | 2,50,000
AL €S UR
i WBAL 8 - 18,000 22,000 | 65,000
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£35 uBALl ¥Rs wAlMs ud REL wisuHl wd 9.
2 - 2016 s QAR 3. 22,50,000 sd.
daRr $A -
(1) B w3dL vidi dal dUR W vig.
(2) wsi adul 2 Rsd yeuis.

Yql
2 Bs axg - "Z" ARl Bl uaR Al 8. Ay, 20164 20
adldl wlsdl A Yoo 8 :
[aoa wlka-A | uwBa-B YB3a-C | dar e
Al K8 20,000 32,000 40,000 | 80,000
UE Hld 1,60,000 48,000 60,000 -
wea vyl 1,40,000 | 1,60,000 | 1,40,000 -
sIRvAL QR v 80,000 96,000 80,000 -
R WS 40,000 16,000 60,000 | 1,20,000
sroedl BHd wR
sl 25l 25% 20% 10% -
AL eLSHI
idz WAL sl - 5,580 10,760 26,136

835 WAL €S WAMSs ud-AL I8 isAHl 20d 9, A
duiR M-l 215 UBA-C viddl ¥ Bud ag ¥4 d BHd isaml
1d 8. [l eAHUA QAR 3. 16,00,000+ &d.

dalR $3A

(1) €35 dosd 8 saladl Bl vudi.
(2) wIvR HAA sl oiddld uais.

3 3. wBd AUl ConAAl’ SiRNed Adld B, d-ll W2 15
Als 3. 1,20,000-0 *iell s wsi-l SlRU2E HE2 M3 v 8 ¢
SiRY2q el ARAR W2 365 (B viedl AMAHL 211d &
SlRU2aml 25 Al el 9.
(1) adsit 140 Rax s 25 vyl avue 4l edl.
(2) 75 Rax 20 walal-Al d3uA Guylel 44l sdl.
vyl [ad 4 Yyxo & :
[ard alds (3.)
- QURASHAAL IR i 24,000
— AL UOUR e 28,800
— QEONAAL MU et 7,200
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- R ds5eAeA IR ...
- sl Meta we
- egfplld lrdl, ¢l Wil
- eglildl Aal i wal

- sy, AeR QAR el wal L

- eqil wdl
- s, dlfsue adR wAd L
- adladl WA L

ol g€l WAl ulile- 3. 200 A% aya™i 219 dl waRlels

481 3 sl 2kl
YAl

3 “Rufaey” MA2R Yrw-ordAl AuaHidl di. 31-03-2016-1 A% 15

Yl dl vl wledl A s 18 © -

[aoa
- wou Wl (BlHRE)
- qéladl AR L 56,00,000
- flogoll - 205wl (Muus) ...
AU e 14,40,000
- ondud wAkL (uls) .
=yl B U 31,90,000
- osel Al L, 16,50,000

sy (3.)

5,00,000

2,20,000

MAea-l sa audl 1,000 olssi-l ©. ¥ @2 33 300 618,
ez 6@ 500 6lss e @A Al 200 685 ©. v eiAIA ey
AR W (o) AvaAMl 21 B, ga As-ll 80% QS duAU A
8. Al 350 (2Rl dlRldlL 8. ARA salA 1: 2 4+l WHIRML MR

Yl €9,

ol WA $& 2ds UR 50% dud-l U8 Avd §1Y dl 38
saluels RRedAl 62 w158l 5. »-IR%H AR ML dar-dl Al

4 gsln @l : (AS el oel)

1) el Qe

A8l Yoo AsLeL

aioteioudl Y- uilalsd
SfoLAL s1UE1i] - AR§1YEIV

HIRdl 2NePls (s ol-s.
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ENGLISH VERSION

Instructions : (1) Attempt all the questions.
(2) Figures to the right indicates marks of the

questions.

1 Dhaval Ltd. is a holding company of Rekha Ltd.
From the following particulars, prepare a statement of
Rekha Ltd. as per Section-212 of the Indian Company Act
to be attached by Dhaval Ltd. with its final accounts for the
year ending on 31-03-2016 :

ey

)

3)

4)

()

©6)

Some Balances of Rekha Ltd. as on 1-4-2012 were as
below :

Equity share capital

(each share of Rs. 100)................... Rs. 15,00,000
10% Preference share capital

(each share of Rs. 100)..................... Rs. 3,00,000
General reserve .......cooeveeeiiiiieiiieaaaaann. Rs. 7,50,000
Profit and Loss A/c. (Credit) ............... Rs. 1,50,000

On 1-4-2012, Dhaval Ltd. purchased 12,000 Equity
shares at the price of Rs. 200 and 1,200 preference
shares at their face value.

On 1-4-2013 Rekha Ltd. declared bonus shares in the
ratio of 5:2 from its general reserve.

On 1-4-2014 Dhaval Ltd. purchased 2,100 equity shares
of Rekha Ltd. at Rs. 250 per share.

On 1-4-2015, 6,300 equity shares were sold at price of
Rs. 300.

Particulars of profit and dividend declared by
Rekha Ltd. were as below :
Year Profit (Rs.) Equity Dividend
2012-13 3,00,000 15%
2013-14 3,72,000 12%
2014-15 6,00,000 20%
2015-16 7,50,000 30%
OR

20
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1 Some particulars regarding Kuldip Ltd. (Holding Company) 20
and Ketan Ltd. (Subsidiary Ltd.) are given below.
Prepare the statement showing details, with working, which
holding company has to attach with its accounts for the year
31-12-2016 :

(1) Share capital of the holding company 1,00,000 shares
of Rs. 100 each.

(2) Share capital of the subsidiary company 1,00,000 shares
of Rs. 10 each fully paid up.

(3) Accounting year of both the companies are as per
Calender Years.

(4) Calender Year :
2012 2013 2014 2015 2016
(5) Profit of Subsidiary Company.
4,00,000 4,00,000 4,20,000 4,50,000 4,50,000
6) No. of shares held by holding company from the beginning

of the year :
20,000 60,000 80,000 70,000 60,000
(7) Rate of dividend paid by subsidiary company :
10% 10% 10% 10% Not
declared
2 A certain product passes through three processes 20

before it is transfered to finished stock. The following
informations is obtained for the month of March - 2016.

Profit is calculated on transfer price or cost price as
below :

Process - A : 25% on transfer price
Process - B : 25% on cost price

Process - C : 20% on transfer price

Particulars Process-A | Process-B | Process-C Finished
goods stock
Opening stock 1,10,000 88,000 66,000 1,50,000
Material consumed 99,000 1,10,000 2,10,000 -
Direct wages 72,000 78,000 2,80,000 —
Factory exp. 80,000 1,80,000 1,84,000 -
Closing stock 31,000 80,000 2,00,000 2,50,000
Inter process profit
for opening stock - 18,000 22,000 65,000
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Stock of process are valued at prime cost. Sales during
March-2016 were Rs. 22,50,000.

Prepare :
(1) Process Cost A/c. and Finished Goods Stock Alc.
(2) Stock valuation for Balance Sheet.

OR

2 A product "Z" passes through three process. The details 20
for January, 2016 is given below :

Particulars Process-A | Process-B Process-C | Finished
goods
Opening stock 20,000 32,000 40,000 80,000
Direct material 1,60,000 48,000 60,000
Direct labour 1,40,000 1,60,000 1,40,000
Factory overhead exp. 80,000 96,000 80,000
Closing stock 40,000 16,000 60,000 1,20,000
Profit on transfer price 25% 20% 10%
Inter process profit
for opening stock - 5,580 10,760 26,136

Stock of process are valued at prime cost. The finished
goods are valued at the same rate which transfered from
process-C. Sales during the month were Rs. 16,00,000.

Prepare :
(1) Process Alc. showing profit for each stage.
(2) Statement showing actual profit received.

3  Dr. Ankit runs "Janseva" Hospital at Rajkot. For this 15
purpose a building is hired at a rent of Rs. 1,20,000 p.a.
The hospital was open for the patients for all the 365
days in a year. The hospital consists of 25 beds.

(1) For 140 days in the year, all 25 beds occupied by
patients per day.

(2) Another 75 days, an average 20 beds occupied per day.
The details of expenses for the year were as under :

Particulars Annual (Rs.)
- Supervisor's salary ...............ccoevvvvnnnnnn. 24,000
- Salary of nurses ...........cccccccvvvvveveennnnnn. 28,800
- Salary of ward boys........ccccccvvveeevvennnnn. 7,200
- Salary of Specialist Doctors ............. 2,40,000
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Maintenance of the building ................ 7,200

Foods supplied to patients .................. 88,000
Expenses for services to patients....... 24,000
Laundry charges for clothes etc. ....... 56,000
Medicine supplhied.........ccccooooiiiiiiinnn. 70,000
Cost of X-ray, Oxygen etc................ 1,08,000
General administration charges ...... 1,03,800

If the hospital wants to recovered an overall amount of
Rs. 200 per day on an average from each patient, what is
the profit /loss per patient day made by the hospital ?

OR
3  The following information are extracted from the books 15

of "Dipvijay" theatre at Surendranagar for the year ended
on 31-3-2016 :

Particulars Amount (Rs.)
- Salary exp. (Three monthly) ........... 7,50,000
- Administrative exp. .........ccocooveeeenn. 56,00,000
- Electricity and oil exp. (Monthly)... 5,00,000
- Depreciation ..........cccoooooviiiiiiiiinnnn.n. 14,40,000
- Advertisement exp. (Monthly) ......... 2,20,000
- Print rent of movies .....ccccceeeeeeenn.... 31,90,000
- Carbon exp......cccoeeeiiiiiiiiiiiiiiieeeeen, 16,50,000

Total seat capacity of the theatre is 1,000 seats. In which
planet red class 300 seats, planet blue class 500 seats and
planet green 200 seats. There are daily 4 shows during the
year every day. 80% of total seats are used. Consider 350
days in a year. All three classes are given weightage in
proportion of 1:2: 4.
If the management expects return of 50% on total
income, determine the rate per person for ticket of each class.

4  Write short notes : (any three)

ey
)
3)
4)
()

Speculations

Ploughing back of profits

Sources of long-term capital

Advantages and disadvantages of hedging
Industrial Development Bank of India.
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